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Hcnonb3ys MeTon pa3ieneHns NepeMeHHBIX, HalTH pelleHHe OTHOPOIHOrO BOI-
HOBOTO YPABHEHHS Uz = @ Uy, 0 < T < [, 1 > () MPH CIEAYIOLNX TPAHHYHBIX U HAYATBHBIX
yenoBusX:
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5. u(0,t) =u(l,t) =0,

S ul0,) =ull.f) =0, u(z,0) = sin%z, us(z,0) = 1.

u(z.0) = sinfz + sin®z, uy(2,0) =0 .
6. uz(0,t) = u(l,t) =0,

- u2(01) = u(l,2) =0, u(2,0) = 0, ue(x.0) = 1+ cosz + cos .

u(z,0) = 0, us(z,0) = 1.
7. u.(0,8) = u(l,t) =0,

L u(0,1) = u(l,1) =0, u(z.0) = 0, uy(z.0) = cos5z + cosZe.

u(z.0) = sinZz + sin#z, u(2,0) = 0.
8. u(0.t) = uz(l.t) =0,

- uz(08) = el ) =0, u(z,0) = sin%z, us(z,0) = L.

u(,0) =1, u(2,0) = 1.
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10.

11

12.

. uz(0,1) = ug(l,t) =0,

u(z,0) = U = const, u,(z,0) = V = const.

u(0,t) = u(l,#) =0,

u(z,0) = 0, u(z,0) = 1. 13.

u (0,8) = u(l,t) =0,
u(z.0) = cosZx, uy(2.0) = 1.

1(0,1) = up(1,8) = 0,
u(2,0) = 1, us(x,0) = 2 + cosa.

u(0,4) = u(l,t) =0,
u(z.0) = sinfz, u(z,0) = sinfz + sin®z.
L u(0.8) = u(l.t) =0,

u(z.0) = cosZz + cosFx, uy(z.0) = cosFx.

L u(0,8) = ua(l,t) =0,

u(z.0) = singz, ui(z.0) = singz + sinfz.
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16.

17.

uz(0,1) = uz(l.t) =0,
u(z,0) =2 + cosFz, ur(z,0) = 1+ cosZ.

w(0,1) = u(l,t) =0,
u(z.0) = sin%z, uy(z.0) = .





